= A= ({2, 1, 1, 1}, {-1, 0, 1, 0}, {0, 0, 2, 2}, {0, 0, 1, 3}}; MatrixFor m[A]

Out[1)//MatrixForm=

2 111
-1 010
0 02 2
0 013

2= (* wi el omi an charakterystyczny =)
chi =Det [A-t ldentityMatrix [4]]
Fact or [chi ]

oufz= 4-13t +15t2-7t3 414
oufgl= (-4+t) (-1+1)3

4= B4 = A-41ldentityMatrix [4]; MatrixForm[B4]

Out[4]//MatrixForm=

-2 1 1 1
-1 -4 1 O
0 0 -2 2
o 0 1 -1

ins:= K4 = Nul | Space [B4] (+ jadro A-41 =)
ousl= {{1, 0, 1, 1}}

nel= V1 = K4[[1]]
oufel= {1, 0, 1, 1}
7= (* jadro A-l =)

Bl = A- IdentityMatrix [4]; MatrixForm[B1]
Nul | Space [B1]

Out[7]//MatrixForm=
1 1

el
o NNOR

1}

oufgl= {{-1, 1, O

= (* jadro (A-1)"2 x)
Mat ri xFor m[B1. B1]
Nul | Space [B1. B1]
Out[9])//MatrixForm=

00 4
-1

o O o
o O o

5
1
3 6
3 6
0

oufio= {{0, 1, 0, 0}, {1, 0, 0, 0}}

1= (* jadro (A-1)"3 =)
Mat ri xFor m[B1. B1. B1]
K3 = Nul | Space [B1. B1. B1]

Out[11]//MatrixForm=
0 0 9 18
0
0
0

o oo
©
=
Y]

oufiz= {{0, 0, -2, 13, {0, 1, O, O}, (1, O, O, 0}}



2 | jordan4.nb

In[13]:=

W3 = K3[[1]]

w2 = B1. w3

wl = B1. w2

Bl. wl
ouiz= {0, 0, -2, 1}
Out[14]= {-1, -2, 0, 0}
oufisl= {-3, 3, 0, 0}
ouzel= {0, 0, 0, O}
In[17]:=

Out[17]//MatrixForm=

1

=)

In[18]:=

-3

Out[18]//MatrixForm=

4

0
0
0

0

1
0
0

O r kPP O

(= | ancuszek =)

(» macierz przejscia z bazy Jordana do standardowej

X = Transpose [{vl, wl, w2, w3}]; MatrixForm[X]

(» postac Jordana =)
Mat ri xFor m[l nver se [X]. A. X]
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